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Good intro

Not true 

Government policy support e.g. software parks 
Presence of quality and cheap labour 
English speaking skills. Easy to capture foreign market 
Internet providing outsourcing facilities 

Please write more relevant points here. Work on content 

You have good presentation skills and good handwriting 
Please read question carefully. You can underline key parts in question itself. Q3
Try to use economic survey as much as possible in GS3 questions. You can add graphs, diagrams etc from survey
Use Niti aayog 
Try to give practical specific concrete measure in answer 
Conclusion was missing in q3. Conclusion can be way forward + your stand. 
Keep practising . You can do well.
Best of luck 
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You have listed here what are the needs of industries. 
Please address question demand. Write why india needs industrial base to become developed country if you support the argument. 
E.g. 1. Industries are labour intensive sector. Will help tackling poverty.
Will help in job creation. Help in improving per capita income etc 
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Write complete  heading 
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Good,

Please write specific measures

Work on writing better measures 
Empowering public through citizen charter etc 

You can also collect global best practices to add value to answer



Nice 



E.g. textile sector, Leather 

You missed question demand 
What are we missing in our strategy . 


Don’t cross the word limit. It is penalised In UPSC 




